
Task 1 
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Practice makes prefect 



 

Code 1: 

 #include <iostream> 
using namespace std; 
int main() 
{ 

 cout << "*" << endl; 
 cout << "**" << endl; 
 cout << "***" << endl; 

 cout << "****" << endl; 
 cout << "*****" << endl; 
  

return 0; 
} 

Code 2: 
#include <iostream> 
using namespace std; 
int main() 
{ 
 cout << "    *" << endl; 
 cout << "   ***" << endl; 
 cout << "  *****" << endl; 
 cout << " *******" << endl; 
 cout << "*********" << endl; 
  
return 0; 
} 
 

 

Code 3: 



#include <iostream> 
using namespace std; 
int main() 
{ 
 cout << "    *" << endl; 
 cout << "   ***" << endl; 
 cout << "  *****" << endl; 
 cout << "   ***" << endl; 
 cout << "    *" << endl; 
  
return 0; 
} 
 

Code 4: 

#include <iostream> 
using namespace std; 
int main() 
{ 
 cout << "    1" << endl; 
 cout << "   323" << endl; 
 cout << "  34543" << endl; 
 cout << " 4567654" << endl; 
 cout << "567898765" << endl; 
  
return 0; 
} 
Code 5: 

#include <iostream> 
using namespace std; 
int main() 
{ 
 cout << "     1" << endl; 
 cout << "    1 1" << endl; 
 cout << "   1 2 1" << endl; 
 cout << "  1 3 3 1" << endl; 
 cout << " 1 4 6 4 1" << endl; 
 cout << "1 5 10 10 5 1" << endl; 
  
return 0; 
} 
 

 

 

 

 



 

The errors is 

Line 1: #include <iostream> 

Line 2: using namespace std; 

Line 5:must be in main fuction 

Line 8: main not main 

Line 11 : forget semicolon ; 

Line 12 to 16:using two quotes wrong 

Line 18: cout not out  

Missing } in the end 

 

 

               

 



The code is :#include <iostream> 
using namespace std; 

int main() 

{  int n1,n2; 

  cin >> n1 >> n2; 

  cout << n1 << " + " << n2 << " = " << n1 + n2 << endl; 

  cout << n1 << " - " << n2 << " = " << n1 - n2 << endl; 

  cout << n1 << " / " << n2 << " = " << n1 / n2 << endl; 

  cout << n1 << " * " << n2 << " = " << n1 * n2 << endl; 

 

   

  return 0;} 



 

The code is : 

#include <iostream> 

using namespace std; 

int main(){ 

  string name1, name2;  int id1, id2;  double g1, g2; 

  cout << "what is student1 name" << endl;  cin >> name1; 

  cout << "his id" << endl;  cin >> id1; 

  cout << "his math grade" << endl;   cin >> g1; 

  cout << "what is student2 name" << endl;   cin >> name2; 

  cout << "his id" << endl;   cin >> id2; 

  cout << "his math grade" << endl;  cin >> g2; 

  cout << "students grade in math" << endl; 

  cout << name1 << "(with id " << id1 << ") got grade" << g1<<endl; 

  cout << name2 << "(with id " << id2 << ") got grade" << g2<<endl; 

  cout << "Average grade is " << (g2 + g1) / 2; return 0;} 



 

The code is : #include <iostream> 

using namespace std; 

int main(){ 

  int n1, n2, n3, n4, n5, n6, n7, n8; 

cin>>  n1>> n2>> n3>> n4>> n5>> n6>> n7>> n8; 

  cout << n2 + n4 + n6 + n8 << endl; 

  cout << n1 + n3 + n5 + n7 << endl; 

return 0;} 

 

 

 

 



 

The output: 

1 

2 

3 

5 

8 

13 

21 

34 

55 

 

 



 

The output: 12345678 

 

 

 

 

 

 

 

 

 

 

 



 

The code is: #include <iostream>  

using namespace std; 

int main(){ 

  int n1, n2, n3=0; 

  cin >> n1 >> n2; 

  n3 = n2; 

  n2 = n1; 

  n1 = n3; 

  cout << n1 << endl<<n2; 

 

return 0;} 

 

 

 



 

The code is: #include <iostream> 

using namespace std; 

int main(){ 

  int n1, n2, n3,n4; 

  cin >> n1 >> n2>>n3; 

  n4 = n1; 

  n1 = n2; 

  n2 = n3; 

  n3 = n4; 

  cout << n1 << endl<<n2<<endl<<n3; 

return 0; 

} 

 

 

 

 

 

 

 



 
The output: 1 

0 

1 

0 

1 

1 

1 

1 

0 

1 



0 

 

The code:  
#include <iostream> 
using namespace std; 
int main() 
{ 
 int nb, ng, nt; 
 cin >> nb >> ng >> nt; 
 cout << (nb > 25) << endl; 
 cout << (ng <= 30) <<endl; 
 cout << (nb > 20 && nt > 2 || ng > 30 && nt > 4) << endl; 
 cout << (nb < 60 || ng < 70) <<endl; 
 cout << (!(nb >= 60) || !(ng >= 70)) << endl; 
 cout << (nb -ng ==  10) << endl; 
 cout << (nb - ng > 10 || nt > 5) << endl; 
 cout << (nb == ng + 10 || ng == nb + 15) << endl; 
  
return 0; 
} 
 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int a, b; 
 cin >> a >> b; 
 if (a % 2 != 0 && b % 2 != 0) { 
  cout << a * b; 
 } 
 else if (a % 2 == 0 && b % 2 == 0) { 
  cout << a / b; 
 } 
 else if (a % 2 != 0 && b % 2 == 0) { 
  cout << a + b; 
 } 
 else if (a % 2 == 0 && b % 2 != 0) { 
  cout << a - b; 
 } 
return 0; 
} 
 

 

 

 

 

 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int a, b, c; 
 cin >> a >> b >>c; 
 if (a > b && a > c) { 
  if (b > c) cout << a << " " << b << " " << c; 
  else if (c > b) cout << a << " " << c << " " << b; 
 } 
 else if (b > a && b > c) { 
  if (c > a)cout << b << " " << c << " " << a; 
  else if (a > c) cout << b << " " << a << " " << c; 
 } 
 else if (c > a && c > b) { 
  if (a > b) cout << c << " " << a << " " << b; 
  else if (b > a)cout << c << " " << b << " " << a; 
 } 
  
return 0; 
} 
 

 

 

 

 

 

 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int a, b, c; 
 cin >> a >> b >>c; 
 if (a > b && a > c) { 
  if (a < 100)cout << a; 
  else if (b > c && b < 100) cout << b; 
  else if (c < 100) cout << c; 
  else cout << -1; 
 } 
 else if (b > a && b > c) { 
  if (b < 100)cout << b; 
  else if (a > c && a < 100) cout << a; 
  else if (c < 100) cout << c; 
  else cout << -1; 
 } 
 else if (c > a && c > b) { 
  if (c < 100) cout << c; 
  else if (b > a && b < 100)cout << b; 
  else if (a < 100) cout << a; 
  else cout << -1; 
 } 
  
return 0; 
} 
 

 

 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int x;cin >> x; 
 int n = 0; 
 int l=0,s=0; 
 while (n < 5) { 
  int y;cin >> y; 
  if (y <= x)s++; 
  else l++; 
  n++; 
 } 
 cout << s <<" "<< l; 
  
return 0; 
} 

 

 

 

 

 

 

 

 

 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int result, num; 
 
 cin >> result;  
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 cin >> num; if (result < num) result = num; 
 
 cout << result; 
return 0; 
} 

 

 

 

 

 

 

 

 

 

 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int n ,r = INT16_MIN; 
  
 cin >> n; 
 while (n > 0) { 
  int y; cin >> y; if (r < y) r =y; 
  n--; 
 } 
  
 cout << r; 
return 0; 
} 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

Code 1: 
 #include <iostream> 
using namespace std; 
int main() 
{ 
 int n; 
 cin >> n; 
 if (n % 2 == 0)cout << "even"; 
 else cout << "odd"; 
return 0; 
} 
Code 2:  
#include <iostream> 
using namespace std; 
int main() 
{ 
 int n; 
 cin >> n; 
 if (n%10 ==0 || n % 10 == 2 || n % 10 == 4 || n % 10 == 6 || n % 10 == 8 
)cout << "even"; 
 else cout << "odd"; 
return 0; 
} 
Code 3: 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int n; 
 cin >> n; 
 double b = (double)n / 2.0; 
 b = b - (int)b; 
 if (b == 0) cout << "even"; 
 else cout << "odd"; 
 
return 0; 
} 
 

 

 



 

 

#include <iostream> 
using namespace std; 
int main() 
{ 
 double n1,n2,n3,n4,n5; 
 cin >> n1>>n2>>n3>>n4>>n5; 
 cout <<(n1 + n2 + n3 + n4 + n5) / 5 << endl; 
 cout << (n1 + n2 + n3 )/( n4 + n5)  << endl; 
 cout << (n1 + n2 + n3) /3/ (n4 + n5)/2 << endl; 
 
 
 
return 0; 
} 

 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int n; 
 cin >> n; 
 int r = 0; 
 r = n % 10; 
 n /= 10; 
 r += n % 10; 
 n /= 10; 
 r += n % 10; 
 cout << r; 
 
 
return 0; 
} 
 

 



 

#include <iostream> 
using namespace std; 
int main() 
{ 
 int n; 
 cin >> n; 
 int r = 0; 
 n /= 1000; 
 r += n % 10; 
 cout << r; 
 
 
return 0; 
} 

 

#include <iostream> 
using namespace std; 
int main() 
{ 
 double x, y; 
 cin >> x >> y; 
 double n = x / y; 
 cout << n - (int)n; 
 
return 0; 
} 
 


